EA966C—1~—37
(RF— L& tybh5—) BHr(T
AF—)L(S45C)
BR
RS CHRERABLEVDED, ST OERNIA RS LGS IZERNTY,
FEIE30° EmEYELTRTYU T NERED T EERITELT=,
RAAIDERYIZC05~15ELTRT Oy YR OFY—DRERO ICERLYPILELT=,

RE & R oy £ PARY
¢® BH8| L=*01 ¢ di ¢ D=*0.1 M
C—1 4 6 * 12 Yy M4X4
cC—2 4 8 * 12 Y M4 X4
C—3 5 6 * 14 M4 X4
CcC—4 5 8 * 14 M4 X4
C—5 6 6 * 15 Yy M4X4
C—6 6 8 X 15 Y M4 X4
Cc—7 6 10 * 16 M4 X4
CcC—8 8 8 13 16 M4X4
C—9 8 10 13 18 M4 X4
C—10 10 8 16 18 M4X4
C—11 10 10 16 20 M4X4
C—12 12 8 20 22 M4X4
C—13 12 10 20 26 M5X6
C—14 13 8 20 22 M4X4
C—15 13 10 20 26 M5X6
C—16 14 12 20 26 M5X6
Cc—17 15 10 24 25 M5X6
C—18 15 12 24 28 M5X6
C—19 16 10 24 28 M5X6
CcC—20 16 12 24 28 M5X6
C—21 17 10 26 30 M6X6
CcC—22 17 12 26 32 M6X6
C—23 18 15 29 32 M6X6
C—24 20 12 29 32 M6X6
C—25 20 15 29 32 M6X6
C—26 22 18 34 38 M8X8
Cc—27 25 15 37 38 M6X6
Cc—28 25 18 38 42 M8X8
C—29 28 18 40 45 M8X8
C—30 30 16 42 45 M8X8
C—31 30 20 42 49 M8X8
C—32 32 20 44 53 M8X8
C—33 35 20 47 59 M8X8
C—34 38 22 50 64 M10X12
C—35 40 22 55 72 M10X12
C—36 45 22 60 75 M10X12
C—37 50 25 65 79 M10X12
Ltos_ FEIERAR
‘f?- - (BAL mm)
! 2-M (1207)
== Rl
- _,i'_r : ]r Iy
i — N =T )
g‘ '_' %: 2-Co [ .
JS e %I ‘I i —I — 7| -
= <+ 4 - ,
| & = T
1 4.L g L L
C1 > >
Ci:¢ 3~25 C0.5 o &
¢ 28~65 C1.0 s T ).
¢ 70~80 C1.5 NS
et
¢ 28~65 C1.0

#70~80 C15



